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BT401 (AD/AG/AT/CI/CS/CT/CO/EE/EX/FT/T/MI/MM) (GS)
B.Tech., IV Semester
Examination, November 2022
Grading System (GS)
Mathematics - ITI

Time : Three Hours
Maximum Marks - 70

Note: i) Attempt any five questions.
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ii) All questions carry equal marks.
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iii)In case of any doubt or dispute the English version
question should be treated as final.
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1. a) By using Newton Raphson method, find the root of
x*-x~10 = 0. Which is nearer to x = 2, correct to three

places of decimals. _
ST Y Rt 1 7T R T TRt x- 10 =0
Tt STl DIRAT x = 2 F Gy 9 egr9era T T

b) Provethat: (I1+A)(I-V)=AV
g IR (1+A) (1- V)= AV
2. a) Find the value of /(5) from the following table.
A= aroft / £(5) T 97 s S
(x [ 1 [27374717 !
[F(x)! 2 4| 8]16 128
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Find the real root of the equation x log,o.x —1.2 = 0 correct
to five places of decimal by Regula Falsi Method.

A A x logyox 1.2 = 0 FHH & @ & 99
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Given following data, find the value of the following
integral using simpson's 1/3 rule and compare it with the
actual value.
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[€°=1, e! =2.72, €2 =7.39, &} =20.09, e* =54.60)

Using Simpson's 3/8 rule to solve the integral
Reaw= 3/8 Fram o1 vl 3R g0 9916d B & Hifgi

flloge xdx

Solve by Jacobi's iteration method, the equations
Sepidl 3T T HA IR gR TRl @ ger IR

20xty-2z = 17
3x+20y-z = - 18
2x-3y420z = 25

Evaluate by Simpson's Rule j;e-*’ dx
Ry FAgs =1 9 7= g & Hifr
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5. a) Find y (4.2) by Eulers modified

(4]

‘ & 2 method taking h = 1 7. a) Evaluate
. from e “—--4x taking y = | when x = 4 ‘TF(T?TH )
Lie™ cos2r
gar\r q@wsg fafr &1 s gy
4.
gl y (4.2) 1 917 3 b) Evaluate
Eﬁrﬁ:rm =2 Jh= 0.1, x=48" W y = | R - e !
b) Find y(l 05) using the Runge-K L [_"S = }
nd g¢-Kutta Fourth order method s> +4s5+8
¥ Runge-Kutta 9 &7 fafty o7 Sy o v(1.05) S 8. a) Find mean of the Binomial distribution.
A g faaror &1 e sra AR

5 2 b) Suppdse a machine produces on an average 80% good

;—:; =x“+y°,v(1)=1.2,h=0.05 pieces, find the probability that out of 5 pieces produced
by this machine 3 pieces will be good.
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6. ') _.....! . s r = ﬂ’ s -
a) Use Euler's method to solve 7 2 y=1 Hiferg)

Compute 3{0. 1) »(0.2).
Wﬁmmmaﬂ%gﬂol),y(oz) E’ﬁﬂﬁ?ﬂﬁ
Hifa)

dy  y*-x

de y*+x

e ol o ok ofe 2

x=0,y=1..

b) Use Euler's Modified method to solve the equation
'%=x+f,y(2) =4, h=02 computey(2,4).
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%=I+J;.y(2}=4,h=‘0.2
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